MATH1040 Practice questions 6

1. Answer each of the following questions, showing all working.

(a) Solve
=3z + 4y = 9
d 4+ 3y = 13
(b) Solve
—5r + by = =2
3z — y = -1
(¢) Solve
-2 - 2y = 3
2 + 2y = b
(d) Solve
r — 8y = 1
-r + 8 = -1

2. Answer each of the following questions, showing all working.

(a) Solve
—2r - y = 7
—4r + by = =21
(b) Solve
3. + 2y = -4
3. + 4y = -4
(c) Solve
—4r + 8y = =7
- + 2y = 8
(d) Solve
-7 - y = 4
T + y = —4

3. Answer each of the following questions, showing all working.

(a) Solve

—3r - y = —13

—2r — by = -13
(b) Solve

-3z + 3y = b

Sr — y = 3

(c) Solve

3 — 3y = 1

8z — 8y =
(d) Solve

3x 4+ 3y = 3

6x 4+ 6y = 6

4. Answer each of the following questions, showing all working.

(a) Solve
xr 4+ 4y = 19
- + 4y = 13
(b) Solve
S 4+ 2y = 5
—5r + by = 1
(c) Solve
3r + 3y = T
T + Ty = 2



(d) Solve
2 — 4y = 8
r — 2y = 4

5. Answer each of the following questions, showing all working.

(a) Solve
rzr — 4y = 7
-3z - 2y = -7
(b) Solve
r - y = 1
-2z + 3y = 2
(c) Solve
-5 — dy = 4
-5 — by = 7
(d) Solve
-z + 4y = -4
8¢ — 8y 8



